Work out the answers to these calculations in your exercise book. Look carefully at the symbol in each calculation before you start so you know if it is an addition, a subtraction or a multiplication.
1. 7488 + 6123 =
2. 2147 x 5 =
3. 3268 – 1124 =
4. 4875 x 8 =
5. 5481 + 6593 =
6. 8456 – 656 =
7. 8426 x 4 =
8. 9566 – 4852 =
9.  1215 + 5984 =
[bookmark: _GoBack]10. 4547 x 3 =
Challenge:
1. Steve’s bills cost £324 per month. How much would he pay over 6 months?
2. Hannah is going on holiday to New York. Her hotel costs £183 per night. How much will it cost her to stay for 8 nights?
3. A plane travels 5922 miles in one trip to Dubai. How many miles will it travel in 7 trips to Dubai?
